(. ITT \
: I i .
O W |H
i L s iy g *
0450 () | | 0/150 W | 0.750 0.750
-0.200 (6) / 370/130h i |4 0.460 |4 0.400 | \% "
e , , , 7
. 2S¢ \0.080 | — <o ,
| 2 N . 1] 300 -0.100 -0.030 .
I S - S pe )
i ““““““““““““
I { | \\
W W -0.150 (n) W W 7 300 %
8 -0.200 (6) f. i 7
s A i 300 400 400 300 W
. | 845 4675 615 @
| 0.750 (n) Y .
W W O.NOO Amv :W \7‘ vmwﬁvmw \_l\_ —S\_mo
T S [ 7
Qﬂ \\\\\\\\ - C00%0 ]
i - =i e
0.460 S J..o.owo ~ 4750, |
i . . | -0.150 | 7 0150
Bug A L _ N i | | L |
N i | !
> Al — * w
| ! m
, - N ﬁ | |
o L Bug A. M1:100
1 1-0.020 || 1 & B) B) A)
I
0.750 (n) W-o.owo I
0700 (RY |
0.700 (6) é 0.750 (n) 0750(n) 8 1s pewetka 500/200h
Y 0.700 (6) I 9700 (6) = 7 0.750 (n) LDF 0.750 (n) dyHaameHT
@ F \\\\\\ = m 10150 (n) 0.700 (6) 0.200 0.700 (6) nns o6opya.
A S T T -0.200 (6) 520 il
L 500 500 AL ® T ]
T? 7 o = _ 300 | / 0.900 |
] ! ” 7 SISO SN SCSIRAAL AT
300 !
n 100 100 N j
2 } 200 500 0.040 W -0.100 |
{ -0. 7 :
L dyHOaMeHT R 1560 4038 1635 BEHT. W
” 7 ” ! .n_.._“m_ obopyn. : Paspes 2-2. M1:100 GQQ 150 400 400 1507 \J50 naxta -1.100
L I
@) * B) B) A
Bun b | -0.150 (n) -mpamopHas nnuTKa
-wmww MMW | A -0.200 (6) | -6eToH
e . onbd-KypopT "......... "B r. AnMmarhl.
ﬁ ®parmeHT nnaHa. M1:100 7 BOCTOMHBIN KBapTAN
} @ Mam. Kon.yu. Nnct |Negok Moanuck| flata
E 2-X 3TaXKHbLIN Xunoi aom (Tun B) Cragnsa | Jluct Jlncto
- Paapa6oTan CaetoBoi choHap Haf 30HOW oTAbIXA
Mpoeepun npv 6acceitHe

YTteepaun

®parmeHT nnaHa; Paspes 1-1;
Bug A; Pa3spes 2-2




